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 BMGTE105-Mathematics for Business

No. of Questions: Bight (08)

Answerany 05 qussionsonly.

a) What is the role of business mathematics in decisionmaking?. 0

: (USmmRS)

b) Fillin the following blarks from i to v, giving the name of the appropriate number type.

o Numbel _Typ_e_s .

e

(05 marks)




State whether the following numbers are rational or irrational when giving reasons.

€)

1.4

ii.

1.61803......

i,

L7373737373......

0.02

iv.

{05 marks)
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What is the equation of the following quadratic function? - .
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- (05 marks)
- (Total 20 marks)



Question No, (2

a)

b)

d)

-3@*2_"-":2.- e

Solve the follﬂowing equation.

(x—1)2= {4/ =D}

(05 marks)
Solve the following quadratic equation by factorizing,
2x*+7x—4=0

(05 marks)

Solve the equation; 6x2 + 13x = 5 by using completing the square method.

Solve the following pair of simultaneous equations.

5a+b ?.-17 o

Quest'io__n_:N(')'.j O_3 o _

a)

b)

fraction?

-._Thé_ -dcﬁomin_éltor of a fraction is excess 3 m_orf_:_than its numerator. If both the numéré'l't'_o'r:

and the denominator are increased by 4, the fraction becomes e What was the original == =

Amila is 2 years older than Bimal, who is twice as old as Chamil. If the total number _b_f ' '

years of ages of Amila, Bimal and Chamil is 27 years, how old is Bimal?
(05 marks)

A quiz has thirty questions whose answers can only be correct or incorrect. A correct
answer scores each 8 points, but 3 points are deducted for every incorrect answer. Gihan
did the quiz and scored a total of 152 points. How many questions did he get correct?

{05 marks)

(05 marks) FRNEEY

Osmarks)
(Total 20 marks)

OSmarks)




d)

Write the following expressions by using algebra;
A number z is multiplied by 4. Then 8 is subtracted from the result. The final answer would

be greater than or equal to 28.

(05 marks)
(Total  20 marks)

Question No. (4

a)

b)

d)

Questip_i;i'_Ne; 05 .

| jGis%énfthéf? 32 1«'/._?_%_'?2¢5;ﬁ'ﬁﬁdlit_h¢jvéiﬁéféfa;ﬁ;:-_f;'l.;:; e
_-"_::.Fmd the Value of x if log(x—l) + 1og(x+1) loggl __:-_j_f S

r"-If}()gm 5+ loglO(Sx + 1) = Iogm(x + 5) + 1 ﬁnd the value ofx e

Simplify the following expression.

1
@xz)*
TaAxZ o

Osmak

(05 malks): .

; _:.f (05 marks)'_._g_.-.;-:'::::-’.j ;' .
(Total 20 marks) &

a) Let A B and C be three sets Draw a Venn dlagram and shade the alea 1epresent1ng each R

ii.

iil.

iv.

of the followmg.
AUBUC
ANBNC
AU (BNC)
A—(BNC)
AU (BNCY®
(10 marks)



b) The student in a class of 40 plays at least one indoor game, chess, carrom and table tennis.
From these students, 18 play chess, 20 play table tennis and 27 play carrom. Further, 7
play chess and table tennis, 12 play table tennis and carrom and 4 play chess, carrom and
table tennis. | |
Find the number of students who pla_y,

(i) chess and carrom.
(i1} chess, carrom but not table tennis.
(10 marks)
(Total 20 marks)
Question No. 06,

a) :If the rate IS 10% and the princ1pal is Rs 50 OOO formulate the Compound Intelest fm 2 SRR

Years 1f 1t is compounded haif~yealiy S e

(05 marks) '_ _. |

b) :Caicuiate the mterest rate f01 an account that started w1th Rs 5 000 and now has Rs 13 000 ; .' -

| :.and has been compounded annuaﬂy for the past 12 yeais

c) i 8 'W hat is, the Fu’fure Value of an Annu1ty‘7

11 . _': .f": What is the dlfference between ord1na.1y Annulty _and Annuzty Due? Explam w1th .:_ .

e _._._.'examples '

d) 1 :What does Net Plesent Value (NPV) mean‘? L
11 "-_'_'__::How do you seleet the best pro;ect usmg NPV‘? ponie B S
iR L ' : REE (05 marks) _. .
(Total 20 marks)
Question No. 07

a) Expand the expression (2x — 3)° using the binomial theorem.

(05 marks)
b) Evaluate (201)3 using the binomial theorem

(05 marks)

(05 e




c) It is needed to select 05 children from a group which consists of 4 girls and 7 boys. In how
many ways can a team of 5 members be selected if the team has at least one boy and one
girl,

(05 marks)

d) In a rural village, there are 87 families, of whj_c_h 52 families have at most 2 children, In a
rural development programme, 20 families are to be chosen for assistance, of which at least

18 families must have at most 2 children. In how many ways can the choice be made?

(05 marks)

QuestionNo.08

a) lefe1 en’uate the followmg functlons wzth 1espeet to X, e

*ﬁ?fﬂh}fv'wx+(mue) g;j}i;ﬁ~'**

UL g e e
SRR Y= L

b) 'The demand func‘uen f01 a certaln commodity 1s p(x) = 10 0 OOIX

of x 1tems 1s

C (x) 50+ 5x Detelmme the level of producnon that max1m1zes the proﬁt

c) The demand functlon of a monopohst 1s gwen by p— 1500 2x -x%

(Total 20 marks) = -~

(05 marks) |

Fmd the Revenue Functmn Marglnal Revenue Functlon and Margmal Revenue ‘when B

x=20.
| (05 marks)
d) The marginal revenue func’ﬂon ofa commodlty is glven as MR— 12 3‘{2+4x Find the Total
Revenue and the correspondmg Demand Function.
(05 marks)
(Total 20 marks)




